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The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
BT 2P Baq ot
fa) What is meant by aggregate demand?
R sl e R 2

Lb) What is Net National Income?
% ok wH e R 387
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{c)

(d

(e)

8A/364

(2) }

What is the relation of National Income
with Economic Welfare?

=IO S SALARE FR ATS T & ?

Define effective demand.

1
Ao ok sigen fou 1

*
Give the meaning of autonomous
investment. :
asfern Rivansm s Fran
What do you mean by paradox of thrift? = |
Ao HI9E A 52 g
State Keynes psychological law of ‘
consumption. |
QTR RIS Toces Rt 3@ w0

|
What is meant by MEC (Marginal
Efficiency of Capital)? |
T oifde vwel (R R @ 1

{ Continue

(3)

./ﬁf Give the meaning of full-employment.

e =y a1
ﬁ} Outline the meaning of acceleration
principle.
T W (31 5g) 5 o o
2. Answer the following questions : 2x5=10
T PPTTRR T ford

o

{a) Which economist propounded the

principle ‘supply creates its own
demand’ and what does it mean?

SRR @ fisr e wftw fce R
¥’ (Supply creates its own demand)
WS Fre IR 71 2— s 2Re w=F
R w2

Jb}/ What are the determinants of effective

8A/364

demand?

e o e & R e
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(4)

(c) Give the difference between induced
investment and autonomous invest-

ment.
o7 Rce W wdem Rfaee
(31 2nfirs) ST N4 et | .

/{d} How can you explain the statement
' MPC+MPS=1?

MPC+MPS =1 @ IR FAF [R

R 2
"fe) . Give two assumptions of multiplier
< theory.
BT TG 751 S |

3. Answer any four from the following
questions : 5x4=20

wﬁmmﬁmm’@mm:

fy Discuss briefly the circular flow of
income in a two-sector economy.

38 weAfee e §TREE 1 ORR R
LT A F4T
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(5)

ib)/Outline the problems of National Income
Computation in developing countries.

SR CPPITRS WOW SR SR TP
oA o '

(c) Discuss the basic features of Keynesian
- consumption function.
PR Tosln FoER T LIFERIR ST
R2 Il ‘

ﬂ, What is meant by investment ‘
. multiplier? Explain its relationship with
marginal propensity to consume.

RN g I B2 9T @9 gRToR
TS TR w01 40 :

fe) /Give an idea of the factors affecting
,\/ consumption function.

TR FoATS AT (T TP Bl
s fagn o

() Write brief notes on the different types
of investment.

RiFcaem Rifew e Raca sy G o o
g
4A/364 @@/(mm Over)
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(6)

4. Answer any four of the following questions :

10x4=40

wﬁmmﬁﬁmwmz

o
)\/,

® (b)

(c)

8A /364

What is * National Income? Give a
comparative analysis of the various
methods of computing National Income

with their merits and drawbacks.
2+4+4=10

TIOW SR A 2 won s s 99 [&fsa
AR GO oIS [T SRl S
@ W Fame! 7l |

Discuss the theory of effective demand
as put forward by Keynes. 10

@%H HSREE &g SIfeqR OG0l SCErsl
41|

Give the main features of classical
theory of employment. What are its
drawbacks? 5+5=10

fcem saie ogoR gaw cafEpEe
[ AAEmergs F &0
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(d)

(e)

S

8A—6000/364

(7))

Define the concept of marginal efficiency

of capital (MEC). Explain the factors
affecting MEC. 4+6=10
T oS TR e fwn | e fAdw
SAMTIR AT F 91

Explain the working of the multiplier
with the help of a table. Give two
limitations of this principle. 8+2=10

B IRFC] SIferer 2rRre oz &4 1 92
e 751 Aarame it |

What are the assumptions of
acceleration principle? Write a note on
its working. 2+8=1(

w99 AR wfSqraER & &2 T o Ry
<51 COrT fora |
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